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. INSTRUCTIONS

Answer all questions.

All questions carry equal marks.

Ouly one answer is to be given for each question.

If more than one answers are marked, it would

be tredted as wrong answer. .

Each qucslmn has four alternative responses

marked serially wsiln 2y 3, 4. You bhays fedarken

only one cm.h. or bubole udi ML"g this coiroct

answer on dhe Answer Sheet vsing BLUE BALL

POINT PEN

6. 1/3 part of the mark(s) of each question will
be deductea for each wrong answer. (A wrong
answer means an incorrect answer or mose than
“one answers for, any question, Lcavlng all the
televant cireles or bubbles of any question blank
will not, be considered as wrong:answer}

7. The candldatu shotild ensure that Serics Cede of
the Queslion Paper Booklet and-Answer Sheet

Eal g o

th

case they are diflerent; 2 candidale must obtain
another Question Paper of the same serics.
Candidatc hlmself shall be rcsp0n51blc for
ensuring t}'g‘l;s

8. Mobilec Phdne or any other clectronic gadget in
the examinafion hall is strictly ‘prohibited. A
candidate fqund with any of such objectionable
-material with hinvher will be strictly dealt as per
rules.

9. Please correctly fill your Roll Number in O.M.R,
Sheet. 5 marks will be deducted for [illing wrong
ot incomplete Roll Number.

Warning : If a candidate is found copvmg or if

' any unauthorised material is found in
hissher possession, FI.R. would be
lodged against himvher in the Police
Station and he'she would liable to be
prosecuted under Section 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992. Commission may also
debar him/her permanently from all
future examinations of the
Commission.
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. Due to economic reforms number of reserve industries for public sector
" is remains -

1 8 2 6
G 17 @ 3

aﬁ%g@%mﬁwmﬁah&smmﬁmﬁmﬁ
™ ¥

os @ 6
o g @ 3

-Which ef 'th_e Ifollowi_ng statement is wrong ? In India, due to liberalization

(1) TForeign exchange reserve- has increased.

(2)  Foreign trade has increased.
- (3)°  Employment opportunities has reduced..
'(4) Foreign capital investment has increased.

e A ¥ PH-E WU T

Sl % GerEed WA N

1) fR% gw wer =@ E o

@) fRM wmr ww ¥ -_
(3) et & oy W ¥ Sy

@)V (el o fas R ®

Which of the following statement is wrong ?
(1) In privatization, disinvestment of public enterpriscs isfdone.

~ (2) Nationalized enterprises has opened for private sector T the process

of privatization.

- (3) _ Public enterprises has'not given on lease to private entrepreneurs in

the process of privatization.

4 Private entrepreneurs has given role in.the management of public

~ enterprises in the process of privatization. 2

'ﬁmﬁrﬁ%ﬁa&ﬁmmmm%

(1) ﬁaﬁmwﬁuﬁaﬁiﬁmaﬁqﬁrmﬁﬁ&ﬂ%mm%

@) Felew ¥ frg g sumd w e 83 % T g T s

-
() Proiew ¥ wdete sumd B Pl weiel @ ow W T
W ¥

4) Wﬁmmﬁ%mﬁﬁﬁmﬁ@mm'
ol
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4 In dynamic financial analysis we evaluate

(1)
@)
3)

@)

Balance Sheet of current year

Income Statement of current year.

Income Statement and Balance Sheet of ensuing year. .

Trend of few years.

Tenes i v N e e e ¥

1
@
3)
()

I I % [y @
FAAM 9 & o TR @
wﬁaﬁaﬁ%mﬁmmawﬁ%m

B TN W IR @

'S5 Which of the following is not a technique of financial analysis ?

(1)
@

@)

(4)

ﬁrﬁiﬁrﬂsﬂﬁr@rmm—@rﬁ?’ﬂﬂﬁwﬁwws ¢

M
@)

Comparative Financial Statement
Ratio Analysis

Capital Budgeting

Funds, Flow Analvsis

goes i fae
U fasea

. (3) Jfﬂsﬂ W ; ,
- (4) fm'hsr m ferggrert

g:-' REREY N

6 - There will be- 'ﬂow of fund when

S
©
G

@

#Goods ' is purchased for cash

_Machme is sold for cash
Cash is “collected from debtors

Cash is paid to creditors

HY YAE TFN

(1)
- 2)
3)
4)

07_D]
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7 Current ratio of a firm is 2:1. If a payment of Rs. SO 000 is made to sundry
creditors, the current ratio will
(1) Increase (2) Decrease
(3) Remain the same (4) None of the above
uF B @ AN ogea 2:1 ¥ Wﬁf?mm”ra?rsooooa mgrmﬁﬁﬁm
o ¥, A O ofguw o
(1) gfg | @ W a‘nﬁ
(3) uen Rer ww (4)aq§?ﬁ£r%raﬁ§=r€r
8 If the current ratio is 2.5, liquidity ratio is 1.5 and workmg cap1ta1
Rs. 60,000, find current assets : -
(1). Rs. 1,50,000 (2) Rs. 50,000
(3) Rs. 1,00,000 (4) Rs. 1,20,000
afy =R SUE 2.5, TIEA U ISHaTaiﬁﬁﬁﬁﬁtSOOOO'ﬁ B‘r
@ = gl g BN )
(1) 1,50,000 %. (2) 50,000 .
(3) 1,00,000 . @) 1,20,000 %.
9 A companys average stock is Rs. 80,000, stock turnover- ratio is 6 and
selling price is 25% above cost then the amount of sales swill be
(1) Rs. 9,00,000 (2) . Rs. 6,00,000 -
(3" Rs: 4,380,500 ) | 507,20,000
ww 0l @ e & 80,000 B, wa{mﬁ@mﬁe%‘mﬁmqw
A Y 25% fw ¥ oA R A v @l fsr
(1) 9,00,000 %. (2) 600,000 . =F.
(3) 4,80,000 T.. ey 7,-20,000 B.
. . At
10. Which transaction out of the following w1ll affect worknhg capltal ?
(1) Payment of Bills Payable b
(2) Collection from Bills Receivable
(3) Issue of Debentures
(4) Conversion of Debentures into shares.
Pty § U E AR a0 ¥ ofE ww ¥ 7
(1) < oot & yias
) w ot & qge e
(3) wowsr & Pobm
(4) - FOTH w1 oief A wREdw
07_D] 4 [Contd...
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Out' of the following which is not cash flow from operating acti'\_}ities ?
(1) Cash receipts from the sale of goods |

(2) Payment to suppliers

(3) Cash receipt from the sale of fixed asset

(4) Payment of Income Tax

ﬁwﬁﬁ@aﬁaﬁﬂ—mw&ﬂmmﬁﬁﬂwm?&% ?
1 W & ¥ Awe Wi

) 79 Yidedtel & g@m

@) weh wmh % Rwa @ dws wia

(4) oEE T OPWE

Out .of “the foilowing which is cash flow from iriVesfirig a_cfi_vit_iés ?
(1) Cash receipts from royalty

(2) - Payment of dividend

(3) Purchase of fixed assets

-(4) All of the above

ﬁﬂﬁiﬁgﬂﬁﬁﬁ—mﬁﬁﬁmmﬁﬁﬂﬁm% ?
(1) afaar ger @ sl
) ﬂl‘f{}ﬁTW‘ﬂ‘mﬁ_.

fald

(3) Wl TRl & wE

. e o8

| ."(2) Redemption of debentures

(1) Cash recelpts from the issue of shares

“Out of thc followmg Wthh is' not cash ﬂow ﬁ'om ﬁnancmg actlvmes ‘?

i

(3) Payment of interest
(4) Dividend recelved

"ﬁa%ﬁaﬁﬁ%ﬁvmﬁﬂtﬁmaﬁﬁﬁmmﬁﬁ% ?

(1)-aisﬁaaﬁ1h=r@rmﬂﬁ
(2) O @ ST
(3) =R & YIAH

(@) wwi B Wi

07D o 5 o '~ [Contd...
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14 Give the name of costing method

(1) Marginal costing _ (2) Standard costing
(3) Process costing (4) Al of the above
ar e Ry @ T Sangd ﬁ
(1) W A i () A e Prefen
() wtea amg fut (4) suda @l

15 In which of the following carriage inward is included ?
(1) In administrative overhead (2) In factory overhead

(3) In distribution overhead (4) In prime cost
Wﬁ@wﬁﬁﬁﬁﬂaff%%ﬁﬁﬂﬁqﬁﬁﬁﬁmm% ?
(1) wemEhe I ¥ (2) wEr suieEd |

@) PEw wfem ¥ 00 @ ™ SINC |

16 Fixed cost per unit decreases
(1) With the increase in variable cost
(2) With the increase in number of units produced
(3) With the decrease in number of units produced
(4) With the decrease in variable cost
e e [T (s el ¥
(1) wRadadew are ¥ ghy & W
(2) SR gedd § g ¥
() SEEA FHEAl ¥ F & WA
@) wiedadta o ¥ wh %

17 The name of Auditing Practices Committee has been changed as
(1) Auditing and Assurance Standards Board
(2) Standard Auditing Practicés Committee
(3) Auditing and Assurance Standards Practice Board
(4) None of the above

e SO |y @1 uian W §
(1) ofbe U1 AGAET AR HOSW
(2) TEE ST waEr wiHd
(3) ofEur qYUl AR HEE HIER HUSH
(@) wudEd ¥ ¥ wEy T
07_D] 6 [Contd...
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First auditor of the company is -appoin_ted by
(1) Shareholders of the company

(2) Board of Directors

(3) Central Government

(4) State Government

®ON % O ofhEd @ g @ S ¥
(1) @ & styreREl @

) w % duwE WEW @

G) ¥\ TR @

(4) T WBR B

Out of the following civil liability includes
(1) liability for misfeasance

(2) liability for negligence

(3) only for (1) or (2)

(4) both (1) and (2)

Prfefaa & ¥ darh ofia ¥ afufe ¥
() T -8 g e

(2) dEd ¥ g afe

(@) Faw () @ () & fag

@ () T (2) X & oY

'An auditor must -be honest" statement was .used___iri '
(1) Kingston Cotton Mills case - '

(2). London and General Bank case

~ (3) Armitage case

(4) London oil storage case

(1) fome wiey P w0 ¥
(2) @<= 9 s do &9 |
(3) onfiew %y H

(4) WA SiEW WS &9 H

07_DJ '- 7
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21 A contract which is enforcéable at the will of aggrieved party is known
as
(1) Void contract 2) Voidable contract
(3) Illegal contract (4) Void agreement
amﬁﬁ%ﬁwwﬁmwmﬁﬁﬁm% BET & —
1) o wge @ =T egE
() @Y IFE™ @ = o=E
22 A contract to do or not to do something on happening of an event is
(1) Implied contract (2) Contract of bailment
(3) Contingent contract | (4) None of theée -
ol we & WA TN W Rl B w B @ T B @ SIgE ¥ -
() T ege @ e wr egE -
() wfE g @ T AW
23  Generally an égrceme_nt without consideration is g
(1) Void : (2) Voidable” :
(3) Valid (4) Unlawful ¥
(1) = @) =G (e
3) #u @) odw .
(I
24 Consent obtained by threatening to commit suicide is mﬂuenced by :
(1) . Fraud : N (2) Mnsrepresentatlon _ -'i":‘ﬁ.':? N
(3) Coercion ' (). Undue mﬂuence - s
Waﬁmﬁ%mm#ﬂémmﬁ%“ .
1) ww= . @ e ae .
3) walsT § : @ omfw wwa &
25 Accepting lesser performance under a contract is known és
(1) Rescission {2) Remission
(3) Alteration (4) Novation
OTY & orTa wH PSR W ST dEEEl §o—
(1) e (2) iR @
(3) i (4) T
OT_D] : _ 8 [Contd...

www.upscstudymaterials.com.

www.upscstudymaterials.com )



e — il T . . -

www.upscstudymaterials.com

26  Which of the following right has not been recognized by the Consumer
Protection Act 1986 ?

(1) Right to safety

(2) Right to choose

(3) Right to Consumer Education

(4) Right to Protest |

w@ﬂwwaﬁﬁm 1986§mﬁrﬂfﬁ€rﬁwaﬁh$r(ﬁw
T - -

(1) T F AHSR

(2) & @ A

(3) sudE R @ SiER

@) sr%ﬁu.w exﬁxm

27 Under the Consumer Protection Act 1986 the District Forum can redress_
the claims upto value of

(1) Rs. 10 lakhs (2) Rs. 20 lakhs

(3) Rs. 50 lakhs (4 Rs. 1 crore
IuniE EXEn Sutrm 1986 & ererla Rre WE Wl TS ﬁ%ﬁm%
oy Vi e (TG Atk S

(1) 10 ¥/ %. (2) 20 K ®.

(3) 50 W@ . 4 1 %0 T

28 - Time limit to- ﬁle complamt under the Consumer. Protection Act 1986 is

(1) 1 year : B ¢ years o
() 3 years R O 8 4 years . L .
wﬁwma&lﬁmwss%mﬁmﬁmaﬁw
dwE -
IRE - .:' ® 5k
G sa¢ @ 4=

29  Which of the following is not included in the components of planning ?
(1) Policies _ {2) Budget
(3) Programme ' (4) Deviation
ﬁﬂﬁ@rfﬁmmﬁtﬁm%ar—cﬁﬁ yifie e ¥ P
(1) it - - @) =
(3) | ®rim )  ferere

07_D] _ 9 [Contd...
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30 Sharing awthority with subordinates is known as
(1) Decentralization (2) Span of Control
(3) Delegation of authority (4) Departmentalization
afedl % WY gl @l GEWil wEEl § -
(1) s - @ FraEm @ R
(3) AW B TR @ Rrarigee '
31 Direction includes
(1) Leadership - {2) Motivation
(3) Above (1) and (2) - (4) Control
fRw & orarfa gnfiw & -
o W@ (@ et
(G) s (1) @ (2) 4y PE=m
32 Main object of controlling is _
(1) Decide Standards (2) Corrective action
(3) Final deviation (4) Forecasting
Frotieana/ i @R wE | Bl R
(1) v feitg & (2) U &Y ,_
(3) e s & 4) qalgaE s -
. e
33  Strategic control is related with '
1) Top Managen{égt (2) Middle Level Mahagément |
(3) _Opgratic.)nai' Managemeﬁf G) All the above C |
o P& et 8 -
(1) = S @ nordlE wa
G) ufmEmew wa @) ELRCIECE
34 Elton Mayo is associated with theory of organization.
(1) Classical () Neo-classical
(3) Systems (4} Contingency
A WA H A A Bl RERER T R
(1) T (2) g 9T
(3) WU - - (4) SmiETEHT
07_Dj 10 | [Contd...
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35 Every company having a paid-up. capital of _____ or more S_hall h}we
a whole time secretary. -
(1) Rs. 1 crore (2)- Rs. 2 crores
(3) Rs. 5 crores : : (4) Rs. 10 crores
% FN s gear gel...... q1- 369 o @, @ ‘Lu‘iih'fﬁ'ﬁ; Ef%rcr
& Frgfm &w g
(1) 1@ % '(2_) 2 FUE %
(3) 5 U T | @) 10 wUE T
36 The first secretary of the company is oppointed by ___
" (1) Promoters | (2) - Directors N
(3) Articles (4). Members |
wmﬁﬂﬁmqﬁzﬂﬁﬁgﬁﬁ ........ =W OSRT ¥ L
(1) I | @ e i

(3) oAl - @ T

37 Which of the following is not included in human resou_r_-ce 7

(1) /W Rrodist Developrsnt / [ 1(2)) | Seleetion

(3) Training ' (4) Compensation
frr ¥ ¥ F- e AWa e ¥ i ¥ 7
(1) @ waw famw | 2) =

38  Which of the folig;.vihg i.s_ ﬁritme 's_tét'eme_n_t _?: S
) . .. Selection is a negative prbbéss. B

(2) Rec'ruit“ment' 1s an inv_itatioﬁ process. .

3) -'fraining ahd: dévelopment are same. _
'(4) Human Resource Planning is base of Recruitment
Frer ¥ & wr-m mew o ¥ ? S
(1) T TF EeE W ¥

() & ww emiswr whedr ¥

(3) wiyew @ few wuw ®

(@) W dared Priem w8 & oeEr ¥

07. D] 11 ' " [Contd...
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39  Enirepreneurship is based on . '
(1) Risk (2) Innovation _
(3) Both (1) and (2) (4) Capital formation
Sy e ¥~ | |
(1) Sifew ) TEER W
G) )= @ /W w @ B
40  The main reason of slow progress of business entrepreneurshxp in Rajasthan
is ;
(1) Tendency to take less risk -
(2) Lack of government incentives
(3) Lack of basic 1nfrastructure
(4) Lack of capital
Wﬁ@mﬁmaﬂﬁm%%ﬁﬂﬁmmmw%—*
(1) wifew w7 @ & ol .
(2) W@ Iwmed & B
(3) SMURYT B @ L
(4) gl F et
41 Which of the followmg is not a part of geographical environment ?
(1) Geographical Location (2) Social Customs
(3),. Climate (43 - Natbral RPesovices
Fralalent 4 & daE SiTee T@EeT & ST TS § 7
(1) wrifwe Rafy (2) wenfses ARifam .
(3) g @ e wee
42 The factors effecting the economic env1ronment of a countryl are
(a) International economic conditions .
(b) Natural Resources . . o .
(¢) Human Resources o o
(d) Social System ghact
Select correct answer by using following codes. : SRS
(1) (b}, (c) and (d) - () (2 ad () ?
() (@), (b) and (c) @) (@), B), (© and (d)
W%&T%aﬁ%wﬁwaﬁumﬁamﬁaﬁaﬁr% |
@ T ez ! f
(b) Wl wEYs - o
() = dEes i
(d) wmSie =sgawen - i
(1) (b, (©) 7 (d) (2) (0 3 (0) l
- B) (@, b) T (@ @ @ ), 7@ |
07_D] 12 [Contd... :‘
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Whlch of the following statement is wrong 7

(1) India is facing the problem of vicious cycle of poverty
) Forelgn trade deficit of India is increasing continuously.
(3) Indian economy is a capitalist economy. :
4) The condition of market perfection is not present in India.
frfifes & & @r-w v T ¥ 7 |

(1) 9a fdfwar & pow § G@ogem ¥

(@) " W RRgY =R U wed W1 W@ E

(3) W s {SERr e ¥
(4) W § G quar & Rofr W@ R

The father of "Green Revolution" of India is/was
(1) Prof. M.S. Swaminathan

(2) Mrs. Indira Gandhi

(3) Ch. Charan Singh

(4) Mr. Lalbhadur Shastri

YRd W TRa Wi & e ¥/ 8

(1) W waT. WHMET

@) Ay She TR

@Gy @ mu Rz
@) 8 g

The basis of "Human Development Index" (HDI) published by United
Nations Organization is
(2) Life expentency at birth

' (b) Adult litéracy ratio o
- (¢) - Combined enrolment ratio
(d) Per capita gross domestic production

Select .correct answer by using the codes given - below :

- 1 Only & . . -(2) (a)and (b) -

3) (@), (b) and (). @ (@, (), (¢) and (d)

'WWWWW@H“WWW”WWW%
(@) m%weﬁaﬁrmfm

(b) T QIR U
(c) E I “HiET AT

(@) iy =RR EEW AR SR

I R W B w I w ge W s g
(1) wEw ) @ @@ b
@) @, ®) W © @ (@, b, © @ (@)

07D} . - - 13 , [Contd...
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46 Which of the following is not a declared objective of the Indian National
- Agriculture Policy-2000 ? '
(1) Food Secuity ~ . () Social Justice
-~ (3). Agriculture Credit 4) Poverty Alleviation
"'-'ﬁwﬁaﬁaaﬁ%ﬁamwﬁﬂ@ﬂﬁﬁrﬁrzooomzhﬁﬁﬁw
T oW 7
_(,.1)”@11?1133&11__ () wfSE <"
o gwwe @ fw
4'? Match list-1 with list-II and select the conect answer by using. the codes -
~ given below : _ _
List-I | List-1I
(A) Fiscal Policy () Credit Control |
(B) Monetary Policy = (ii) Replacement Llcence Scheme
(C) Indusirial Policy (iii) Taxation |
(©) Commercial Policy (iv) Reservation for publ_i.c'; sector
Code : .
(A) ® © O
Y\ \KD, L OGS T/ i
2 @ (@) (i) (iii)
3) Gi)y @ (iv) (D)
4 Gvy () (i) (1)
_@4%@11%{%1? m@%ﬁa@mmmﬁm_
§q SEECTI (RE : A
B 18 S L S :
'(A)wa%@htr#rfa @) wefREm g
B). ﬁﬁﬁ’hﬁf . _(11) WH@‘HW
©) _eﬂtﬁﬁrﬂ? C 1 S €11 B sl ' |
D) affs A 0 (v) wEwe 8 % fae e
FHE : '
@ ® O O
o @ (i) @) (i)
@ G ™ O G
@) Gy 6 G @
| @ ) @) @) @
07 D] - - 14 [Contd...
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From the following in which year the balance of trade of India was
favourable ?

(1) 1976-77 (2) 1981-82

(3)  2005-06 (4)  2009-10
'ﬁwﬁfﬁﬂaﬁ@rﬁwﬁwwﬁﬁsﬁwwww%
(1) 1976-77 (2) 1981-82

() 200506 (4) 2009-10

In the context of the two way trade of India with different countries Wthh

among the following is India's largest trade partner ?

(1) United States of America (USA)

(2) China _

(3) United Arab Emts (UAE)

(4) Japan
W%&ﬁ%w%ﬁmw%uﬂﬁﬁmﬁﬁﬁﬁ%
P MRA H GEY T ARG GHER &7

(1) ¥gw wa R

@) #=

(3) wHgw s orid

(4) w9

.Whldh of the following. has a greatest percentafre share of Indian exports

*in 2009-10.7
= (1) .Agnculture"iiﬂaﬁ' allied goods

-_(2) - Ores. and mi:n'e'rals-

3) .FManufaétured i @oods

. (4) Crude and Petroleum Products

aﬁzoomofrwésﬁuﬁaﬁﬁmﬁrﬁgaﬁﬁmwﬁrmmwﬁw
w E 7

(1) T wwwE e

(2) o wd @i

(3) fafmior wgd

4) wHERw wd iimm Sor

07 Dj S | 15 - [Contd...
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The Indian Institute of Fdreign Trade was set up in 1964 for the
objective of =

(1) Training and.Research for export promotion.
(2) Providing packing facilities. '
(3) Promoting medium and small exporters.

(4) Providing export finance.

1964ﬁwﬁﬂwnﬁuﬁ%aﬂwmwrﬁma%wm
(1) Prfa dweed & fig wieen of egRan

) Rt ghed wem &

(3) woM o wghEld B W B
@ frafa frg Suey &

"Indian Trade Promotion Organization" was set up in 1992 by merging

(1) Mica Trading Corporation and Tea Trading Corporation.
(2) Trade Development Authority and Trade Fair Authonty of Indla
(3) ECGC and Export-Import Bank of India.

(4) State Trading Corporation and Indian Standard Institute.
1992 ¥ i WA W WERT ¥ &1 e fra ¥ ¥ B
& \Brefd 4l 8f

(1) &vwe =R frm g 97 =R fem

2) @R fem wiee gd AR @R AW wiieer G

¢) @S @ adm Prfe-omm 3@ 1y
-(4)mmrrﬁmqém‘cﬁﬁwﬁwﬁw - (e

Whlch of the foliowmg is not a measure taken by the Government of India
for export promotion 7 - :

(1) Additional Import Fa0111ty o Lo e

(2) Relief in Taxes ' | ' - H

(3) Setting of SEZs

(4) Revaluation of Indian Currency
Wﬁﬁﬁmmwwmwm%mmﬁ
gl w1 WRT R ¥ 7

(1) ofafea s ghen

@ wU A W

(3) Tafyre enfife &= (tya Sl

(4) 9IRS T @ A

07 D] 16 [Contd...
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() Improvement in infrastructure related-to exports .
(b) Brnging down transactions costs
(c) Providing full refund of all indirect taxes and levies
(d) Establishment of SEZs.
Select correct answer by using the codes given below :
(1) (@, (b) and (d) @ @ ®) amd ()
G (@), (), (c) and (d) @ ®), (c) and (d)
ARG W R Wfr 2010-117 @ wHE ww Reg ¥
(1) Frafd ¥ s=fug e €@ § gur
(b)- W I W AEET WY HH BN
() uft sy o wd W ( ﬁa?r)mgﬂﬁfmﬁaﬂm
) Pt oitfe &= (@) H W &
(1) (a), (b) T (d) 2) (a), (b) @& (0)
) @OOW@ @ 6@
55 Which of the following is not.a: type of symbolic economic models ?
(1)  Quantitative Models
{2)  , Allocation Models
(3) * Physicar Moaeis
(4) Inventory Models
ﬁmﬁiﬁaﬂﬁﬁaﬁﬂ—mmmﬁm}aﬁawmm
T T ?
- (2) oEes HEw - e '
) dife ARw
@), wf%ry(sﬁmfr)
56 'Demand for intermediate consump_tl_on- arises in : -
- (1) -~ Government enterprises only.
(2) Al producing sectors of the economy.
(3) Consumer households.
(4) - Corporate enterprises.
frer § ¥ fpg & weradl sud & AT o= A %
(1) a0 T oumd A
(2) orderae & g SESs @S H
(3) SuWen wiErt ¥
% P oo ®
07D} . | T U " . [Contd...
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57 Which of the following item is not treated as factor payment ? '
(1) Imputed rent of an owner-occupied building.
(2) Salaries and allowances to the members of parliament.
(3) Free uniforms to defence personnel. |
(4) Scholarships given to Scheduled Caste students
Prefifas ¥ & B0 7 WEM YA T8 Aeh el ?
)y @l Z s ¥ Rl T wew e wwfEn e Rewn
(2) WH & YT TE AW
() gom HE B R F & 9l
(4) oggha iy & fenda & § S wegh

58 Match List I with List 1 and select correct answer by using the codes
given below : : : '
List-I | List-II
(A) GDP at factor cost — Depreciation (i) NNP at factor cost
(B) GNP at market price — Depreciation (ii) GDP at factor cost
(C) GDP at market price — (iii) NNP at market price
Net indirect taxes _
(D) GNP at factor cost — Deprematlon {iv) NDP at factor cost
Code :
A ® ©, @O
(WY Vidiy U Py S LU Y il
a_ @ v G G 0
P @ O G 6o (3D
@ Gi) O G
. F@IW@IIQWWHW%%&@MWWW
S < ° el o
(A)WW‘R‘GDP—‘{ETEI’H () W @F@ T ONNP
(B) IR T W GNP - q&d@ @@ (i) @@ @r 9 GDP

(C) 99 Ygd@ W GDP - . (i) @ @I W NNP
I AT B

(D) =W @ 4T GNP — & 39 (iv) @9 @ 9X NDP

HE

@ B O© O

o G G ® 0 )

(2 Gv) @) (i) (i)

G- @ G (v Gi)

@ @y @ W (if)
07_D] 18 {Contd...
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59 A project costs Rs. 50,000, scrap value Rs. 10,000, life 5 years and annual
average income before depreciation and tax Rs. 16,000. Assuming tax rate
at 50% and depreciation 01 straight line basis, find out pay back petiod.
(1) 3.125 years . (2) 4.17 years
(3) 12.50 years (4) 6.25 years
wg i @ wrE 50,000 % srefite {10,000 % HgT w
s of qur @@ @ wT Y gd afie ofed o 16,000 ©. @Y @l T 50%
awmtﬁtﬁ%mqﬁ%qﬁ%@wﬁmﬁxmﬁm i
(1) 3.125 a8 @) 417 @ :
(3) 1250 99 : (@) 625 a4
60 A number is chosen at random from numbers ranging from 1 to 50. What
) is the probability that the number chosen is either a multiple of 2 or 107
1 1
m 3 @ 3
1 1
® 3 @ 3
1 ¥ sow@rmaﬁﬁﬁaﬁéwéaanwwﬁm@rm%eﬁ
o @A f5 swh 2 T 10%@%%@[%'@% ?
1 o1
M 3 @z
! 1
G 3 @ 3
61  Which of the following is ot ncluded in the psychological factors of
. “consumer: behaviour 2. _ ' o o
-+ (1) Learning . (2) - Attitude .
- (3) Lifesstyle. ~ (4) Beliefs o
P § & - wh wﬁﬂw%ﬁﬁ%ﬁm i A o
B S
() - (@) bl
@) e Sl @ Rwwm
62 In marketing research to know the effects of change in one variable in
a given situation, the suitable method 15
(1) Experimental method (2) Observation method
(3) Telephone survey (4) Personal Interview
ﬁwa@mﬁ%wm'ﬁuﬁaﬂﬁ%wﬁﬁmﬁuﬁ&aﬁﬁ
sy % g st Tl ¥ - ' |
) whew fafy @) oEeET Wy
(3) rEE FEE (4) wHfeRTTE WERBC
07 D] 19 [Contd
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63 The advertisement which shows benefits of the product to the
middlemen is
(1) Pull advertisement
2) Comparatwe advertlse'nent
t3) - Push advertisement
(4) Cooperatxve advertisement _
ezl Wl SR & WIW e S [
(1)_ g s
(2) goers e
¢) 3o fmwm
@) edrd R
64  Generally posters are included in - advertising media.
(1) Print media
(2) Electronic media
(3) Outdoor media
(4) Other media
AT V... R T B SROTE mﬁa E"l?r % '
(1) Bir AR
() Rt dtsn
.- (3) omeE — SR Hiew 5 |
o @ o A | 00
. : o1
65 Which among theé followmg is the only correct statemento?:
- (1) Money market meets Iong term financial needs.  (p
(2): Recession m mdustnal sector 1n Indla is normally due to fall in
© exports. :
(3) Ways and means advances is glven by RBI are nov&ﬁ’ere related to
State’s revenue. _ : :
(4) Exchange rate is fixed by RBL
framfafy & & @0 06 ®UT g9 § 7
(1) g SR e o smavawdel # O @ @
) wa ¥ ofeifie & ¥ 7= e Pafel § wh & ewrw ¥
. (3) - o d% T R W o (oreiuE) oM @t wedt @ et
¥ B¢ wEY W ¥
@) fafra o fod 99 g fuifa & o &
07_D] 20 [Contd...
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66  Consider the following statements in the context with treasury bills :
(@) They are issued by Govt. of India on behalf of RBI.
(b) They are mostly for short-term borrowings. .
(¢) Treasury bills cannot be purchased by any person resident of India
Select correct answer by using the codes given below :
(1) All are correct '. (2) (b) and (c) are correct
(3) Only (b) is correct (4) Only (c) is correct

Yordr Rt ¥ @l ¥ PR et w0 s AR

(a) .ﬁﬁmﬁ%aﬁmﬁ_wwm_m%mﬁ%
O] AR A smR ST O d

© o faw Bl f wda e Tw w8 @R o wwd
A P T wrew W oW F@ g A S Y

Q) Th o ¥ 2 O w () i

@) %AW ) W ¥ @ FWEEEE

67 Which of ihe/ followingcisface correct [sctements | 7
(a) Increase in deposit rate results in higher savings.
(b) Increase in deposit rate results in fall in credit off takes.
(c) Increase in deposit rate results in increase in investment.
Select ""coj%féct answer by Lis_ing._'th'e" -éodés'_' given belbw-':_'.' .'
(-1_) @and () Q) @and ()
® @ ®amd© @ ony@ .
P & & gt w v ¥ 7
(b) S W gy ¥ FT AY A ww F ad o B
() o A ghE ¥ FfEm wed ¥
A T wey B T B gy @l o gha
(1) () & (b) 2 (@ @ (c)

(@@@@@. 4) W ()
07D - 21 [Contd...
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68 The principles of double entry system were propounded first time by
(1) Huge Old Kessel (2) Lucas Paciolie
(3) Batlibot (4) William Pickles
dew e W & ReEr @ wd e wRRe R
1) T o ¥ B @ gem W@ T
(3) dleddi @a (¢) o few aw

69 Respective three stages of accounting cycle are
(1) Classification, Primary Books, Summary
(2) Primary Books, Summary, Classification
(3) Primary Books, Classification, Summary
0} Summary, Primary Books, Classification
(1) iR,y @, i
@ URRWE W, qiy, e
@¢) TRhYE @, En‘ﬁw ESIRaEL
(4) wny, YRR @I, B

70.  Following all items are classified as fundamental accounting assumptions
exinen! :
(1) Separate entity (2) Consistency .
(3) -Going concem . (4 Accrual FL
ﬁw&rﬁﬁmﬁqﬁrﬁaﬂw@r@mmﬁﬁ%ﬁwﬁmﬁqmm
1) yam sfaw - - @) T

S @ e @ s ,,

71 Credit Note was sent to Ram for Rs. 500 for damaged gooalsgf.Ent.ry for
this will ‘be made in
(1) Sales Book (2) Sales Returns Book
(3} Purchases Book (4) Purchases Return Book
AOUR W AR B W B 500 B H ooom A R A 1 zge e
R s :
(1) fra wd@ A @ Pow ool @ § ;
ONECE LI (4) w9 awh T F '-‘

07_D] . 22 - [Contd...

www.upscstudymaterials.com



—_ = B

o
www.upscstudymaterials.com

72  Transaction to be recorded in Joumal Proper wrll be '
(1} Credit purchase of fumlture ' C
(2) Payment of wages -
(3) Credit sale : :
(4) Purchase of goods of Rs. 1,000 from Suresh
ger wofe ¥ e o aw @ |
(1) wiel © U ®HT
(2) woIgh @ P
() R fuwa o
@ gW ¥ 1,000 & F AW B @

73 Whose account is debited in the books of Ram when a bill is endorsed
to Krishna by Ram which is accepted by Sita: B
(1) Sita's Account ' (2) Krishna's Account
(3) Bills Receivable Account - (4) Bank Account
u&rﬁm%m%ﬁrmmwaﬁwﬁﬁﬂé?ﬁmaﬁw
¥ wma faE @m | |
) € w @ '_(2)_§mrarr@1aj_'-"'
@) w fw =@ @) % wm

74 - Bill awritter) o 291 Yore, “2011 1oy ‘thiee rmnths) matlrity cate will be
(1) 15t October, 2011 (2) 27 Qctober, 2011
(3) 3 October, 2011 (4) 4t October, 2011
29?@ 2011 aﬁaﬁamﬁmﬂr%%qﬁ-@ﬁﬁrﬁwﬁaa&uﬁmm

_('1)-_ Iaﬁraa'{ 2011. . (2) 231?5«:&'{ 2011

() 3 o, 201-"-;‘. o .(.4) 4 s, 2011_.
.- -.-'.'75 - .The holder of blll can receive - payment from mthe caseof .

- dishonour. of bill _
QY -only drawer R
(2) only drawee
(3) only endorser -
(4) - any endorser or drawer .
fam & mﬁméaﬁwwmwﬁmmw%
() %aw d@F 9
(2) bad R el q
(3) ¥aW T IOW FE AW A
@ TR off 3gm @al oruar duw @

A | 3 [Comtd..
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76  The cause of origin of depreciation is

(1) Fluctuation (2) Obsolescence
(3) Salvage value (4) Closing value
T W9 W A W e ¥

(1) s=EE (2) - ST

(3) oEf g @) ot 7w

77 In which method the balance of asset account wili never be zero ?
(1) Original Cost Method (2)  Depreciation Fund Method
(3) Wiritten down Value Method (4) Insurance Policy Method

78  On 31% December, 2011 Rs, 7,200 was charged as depreciation on a
machine by reducing balance method. Rate of depreciation is 10%. This
machine was purchased on 1%t January 2010. The original cost of the
machine will be

(1) Rs. 80,000 (2) Rs. 79,200
3) Rs. 76,000 (4). Rs. 72,000 By
3V Dorl @) sl | ey & T el ¥ 7200 . G
EH BT T L g B T 10% ¥ ) gz msle | T, 2010 &Y Wy
B T A | 39 "0 A g9 w ey
(1) 80,000 %. @ 719200 %
) 76000 % @ 7200

79 - Cost of goods sold is Rs. 1,20,000 and gross loss is 1/4 of sales,
The amount of sales will be o :

(1) Rs. 1,00,000 2) Rs. 90,000

(3) Rs. 96,000 (4) Rs. 1,44,000

RECR G IR AR TR — 120,000 % ¥ @ gww @l frea @
V4 % |t & < ad

(1) 1,00,000 @, (2) 90,000 .
| (3) 96,000 @, (4)  1,44,000 ®.
07_D) ' 24 [Contd...
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If sales is Rs. 2,40,000, Gross Profit is 1/3 of cost, purchases is Rs. 1,96,000
and closing stock is Rs. 36,000, then Opening Stock will be

(1) Rs. 10,000 - () Rs. 20,000
(3) Rs. 80,000 @) Rs. 1,00,000

ufy Rrepa 2,40,000 %. ¥, waw W @EE @ 1/3 ¥, ®I 1,96,000 3.
% ofr oifm @ 36,000 T % @ URiue W™ &

(1) 10,000 %. (2) 20,000 %.
(3) 80,000 %. ' (4) 1,00,000 ®.

An example of intangible asset is .
(1) Preliminary Expenses (2) Discount on issue of shares
(3) Dr. Balance of P&L Account (4) Patents

ol WAl W UH SR ¥
(1) wRfss =™ (2) <t ¥ i w ==
&) W—aﬁ@ﬁw%ﬁzé‘m @) uHE

The .error, which, does nat; affect the agreement of Trial Balance is
(2) Error of Posting
(3) Posting in wrong side (4) Error of partial omission

Faae & Pem @ e A8 e T aghe ®

(1} Error of Principle

L (yr dabaw sgfe @ = @ g
| --"(3"1“1‘11613 rr_ai ¥ owdr

@ it g @ afe

‘Error of prmclple"out of the followmg is :

(1) Rs. 5,000 received from Rajesh were posted in account of Rakesh :

(2) A credit purchase machine of Rs. 20,000 was recorded in Purchases
Book

3) A purchase return of Rs. 4, 000 was recorded in Sales Retum Baook.
(4) Rs. 5,000 paid to Ramesh as salary were posted in Wages Account.

frafafaq § fegra aag&%

(1) ti@fsrdmsoooao%ﬂaa@raﬁ@mﬁq:

(2) 20,000 T. @ AN IUR w4 @I, e el T gEE § &L R |
(@) 4,000 5. ®F A F q@ fwpd T gEs A B RE |
@) W9 @ 5000 5. 6T gER R wogd @w F fre R

07 D] : 25 | - [Contd...

www.upscstudymaterials.com



| gt e

84

85

86

(2) Rs. 32,000 and Rs. 16,000 Y
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Goods worth- Rs 20,000 purchased from Ram. was entered in Sales Bool\
This error will create

¢} Increase in gross -profit

) Decrease in gross profit

(3) No effect on gross profit

@) Elther (1) or (2)

20,000 %. %mm@mwmmd@ﬁmaﬁ%mm%
frat @1 7 agfs s Eﬁfi’r |

(1) mmﬁqﬁg
@) wew aw ¥

3 W OR R owww
@ wa @ ar @

A and B are partners. sharing profits in the ratio of -5:3.- ' They admit C
in partnership for 3/10 share in profit. The new ratlo aﬁer Cs admtssuon_
will be :

(1) 35:42:17 (2) 35:21:24

(3) 49 :22:29 (4) 34:20: 12

qamé’rmdm%wﬁmﬁrm&mwrmﬁ%l%%ﬁaﬁmﬁﬁ

:};lnomier%ﬁiqwdzr&ﬂuﬁaﬁa%iﬁ%ﬁﬂﬂsmww
.

() 35:42:.17 @) 35:21:24

(3) 49 :22:20 (4) 34:20: 12

{-

X, Y and Z are partners in the ratio  of 2:2:1. On'retirement’ of Y€ Goodwxll

_ ‘was valued at Rs. 1,20,000. The contnbutlon of X and Z to compensate
Y will: be - : ) R A

(1) Rs. 80,000 and Rs. 40,000 T i

1

(3) They will not contribute anything
(4) Information is insufficient for any comment.

T, A w221 ouR ¥ @i | T ¥ s
TR BT qEwT 1,20,000 6. fewm @ | A aRf w %
TH Q4 S H sisfe & -

(1) 80,000 %. TuT 40,000 %.

(2) 32,000 5 AT 16,000 ®.

B) ¥ B 0 GRF T &5

(4) foft ot ool & fo o argi

P
Ar

.q_{.
fg
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87 TUncalled amount on .shares which can be called only at the time of
company's liquidation is called

(1) Paid up capital (2y Called up- capital-'.

(3) Authorized capital (4)' Reserve capital
maﬁwawﬁﬁr@xﬁﬁmﬁﬂé’rwmﬂ%ﬁ wEAal &
O wew @ e @ T

@) s @ g

88 Share capital account is debited in the :forfélitur_e___.entrx
(1) With the calls in arrear
{2) With the uncalled amount on shares
(3) With the paid up amount ‘on shares -
(4) With the called up amount on shares

ﬁsﬁﬁimzﬁrw&r&zﬁa{mqﬁw%ﬁzmw%
ON axaﬂwamugﬁrﬁrﬁ

@ dst w T s g

@) | i, o e e A T °

(4 etslt @ A W g i @

89 A 9ompany forfeited 200 shares of Rs. 100 each, Rs. 70 called up on which

- the.shareholder paid Rs. 50 per: share. These shares were: re1ssued at ..

.....

Rs. 80 fully paid up. The share forfelted account will be. debited. in the_
reissue -entry with : = : .

() Rs. 4000 - - (2 Rs 6,000
(3) Rs. 10,000 @) Rs 16000

aw—w“r%rloos aﬁzooaaﬁmwm R W 70 %, Ry el
_wnwmamamaﬂ’rersotr qﬁramwwmm | g oS

ﬁso*auf%famqﬁmwmﬁgqgﬁﬁﬁﬁﬁmw | gARetaT @
sw R ¥ ey wmv @R w e few wEm |

(1) 4,000 5. ¥ (2) 6000% ¥
(3) 10,000 & | (4) 16,000 . @
07 D] 27 [Contd...
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Redeemable preference shares can be redeemied when undistributed proﬁf‘s
are not available ' :
(1) By issue of debentures
(2) By issue ‘of equity shares
(3) By sale of investments
(4) By taking overdraft from bank
ﬁwmzﬁwwmwaﬁ%aﬁﬁaﬁrﬁ ﬁﬂ‘hﬁﬂﬂlﬂﬁﬂ?ﬁﬁ?ﬁﬂﬁ
fpn s W@ ¥
1) st @ ﬁ"fﬂﬁ C3C
) s gk w1 Rpfe aﬂ%ﬁ
) Tafmnt & s9w< . o
) ¥ ¥ ofefed dw |
91 Premium on redemption of preference shares can be given
(1) Only from General Reserve
(2) Only from Securities Premium
(3) Only from Profit & Loss Account _
(4) From all of the above __
afre \G9T) ¥ L4t CwT R OREaaa B Bt | s B e wwan &
() ¥ 9FF @ ¥ )
@) Faw whefy Dfem @ | o)
3) aw Tk ER @ | ¥
@ sRE & C o - A
92 If own debentures are can.celléd, the’ profit ori ca_f‘iqgellation' is trangferred =
to _ o o . 7
(D General Reserve Account _ _ . o)
(2) Capital Reserve Account L ' )
(3) Profit and Loss Account | ' |
(4) None of the above
ﬁm%wﬁﬁmﬁmw%?ﬁﬁmﬁwz{qwaﬁmﬁm
R s
(1) I §9 E@R ¥
(2) Yo W1 g A
() wH-TN wW H
@) vugw ¥ FE T
07 D] 28 [Contd...
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93 Li_ability in sole proprietorship form of 'busines_s is

(1) Limited . (2) Unlimited.

(3) TJoint (4) None of these
e & qwe e 4 o oy - o

1) e @ aﬁhfha

-(3) wgR @ A EE T

'94 Maximum number of partners in a valld partnershlp may be

O 7 @) 10
(3) 20 @ 50 -
w%&a@mﬁﬁq@aﬁ@raﬁwmﬁm%—
M 7 - @ 1
(3) 20 @ S0

95 Which of the following statements is true about' pzirttiership_ 7
M I"an‘nersbip is hased on agreement
(2) Registration of partnerstap firm is optional
(3) There is mutual agency relation among partners,
(@) All the above

_ﬁﬁﬁ%ﬁﬁ—mmmaﬁw&%aﬁﬁw%~
(I)WWwwaﬁazﬁ% |

(2)%#@%%&%?@% |
o) H@mﬁ%wmﬁﬁrwmﬁm%
'(4)3@@8‘#( o |

96 Minimum number of members required in a private company are

a 2 @ 7

(3) 10 | 4 S50
@%mﬁ-ﬁmﬁwmmaw%f
O 2 . @ 7

(3) 10 - 4) 50

07_D] - 29 | [Contd...
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97 Fundamental function of management is

(1) Organization : (2) Planning
(3) - Direction (4) Control
yE @ S AR

(1) . G | | () FEEE
¢ MWw o o @ Frawe1

98 Which of the following statements is true ?
(1) Management is inexact science '
(2) Management i§ & profession -
(3) Both (1) and (2) above
-(4) None of these
foer ¥ ¥ SE-T HE FE T -
(1) ey UH TR ﬁaﬁ %
(2) WEY TH UM ?
@) s (1) W@ (2) I
@ T ¥ e W

99 Nty Folé ,ih planiig 15 | o1
(1) Top management
(2) Middle Level Management
(3) TLower Level Management

(4. None of these - .57« o

Oy smowEs @ e
(2) WYY T B " L
(3). Prevrlm wew &l

@) T & B T
100 14 principles of management have been given by
(1) Peter Drucker _ (2) Fredrick Taylor
(3) Oliver Sheldon (4) Henri Fayol
vy ¥ 14 g R W OE -
(1) X gt B @) Wefe T Em
(3) olfde s (4) U BOE E
07 D] - 30 " [Contd...
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101 Recognition to Stock Exchanges is given by
(1) Central Government - (2) Finance Ministry
(3) SEBI - | (4) None of these
oo Tl B o & -
() ¥ ¥@R T @ fr W @
@ e @ T A 9
102 Securities and Exchange Board of India Act was passed in. - |
(1) 1948 @ 1990
(3) 1992 - | @) 1956
arii R @ fatem @ s wie R T -
(1) 1948 @ 19%0 :
G3) 1992 (@) 1956
103 Approval of transactions of securities of any company on & recognized stock
exchange is known as - '
(1) Underwriting (2) Subscription
- (3) . Capitalization = N ) Listing. : o
'Wmﬁuﬁm%wwwmﬂﬁﬁﬁﬁaﬁwk
"_ (1) aﬁwﬁw R "'(2)_a1&ra1_=r-
@ e @ e
104 4 Ps of marketing include
(1) Product (2) Price
(3) Above (1) and (2) (4) Placement
Roue % 4 Ps (@R W) A ufiet ¥ -
(1) S @ T
() s (1) W @) (4) wmETd
07D} 31 | [Contd...
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105 Which of the following statements is true ?

(1)
2)
€)
“4)

New concept of marketing is. based on sellmg
New concept: of marketing is customer centred
‘Selling and marketing are same -
Marketing does not include promotlon

et & ¥ W @ oww ¥ -

| o
)
€)

“)

ﬁwaaqéﬁmwmﬁmm%
ﬁwaﬁﬂiﬁaﬂmvwﬂwaﬁﬁ%

‘W@WW%

o § waem e € %

106 - Objective of advertising is

(1) To inform

() To remind

() Above (1) and (2).

&) IImprove relatlonshxp with dealers mt
g &1 SE ¥ - -

Oy g e

@ % R | e
(3) SR (1) T (2) L ain

@ dd % wa e gacn o ho om

107 Software used for accounting is CAgg ~oebal

(1) System _Soﬁw'are .\ o | | .jri;

(2) Application Software .,k B (o

(3) Firmware. - e S ' ot

(4) None of the above

qEiET ¥g SUET B ST @ SR % -

(1) Trew swamy

(2) TR HwEaaT

(3) W T .
(@) SREE W W RE W

07_D] 7 I - - [Contd..,
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108 According to the Planning Commission of India how many calories per

person per dayis required to define poverty line in rural and urban areas
respectively - . :
(1) 2100 and 2400 calones

" (2) 2400 and 2100 calories

109 From the following who's name is associated with the "National Rural
Employment Guarantee Scheme”. . -
(1) Rajeev Gandhi (2) Jawaharlal Nehru .
(3) Indira Gandhi (4) Mahatma Gandhi
Rrffar & ¥ few @1 @ WWWWW”%@
TOM Y ? ,
(1) i e Q) “EEEE AEe
(3) g\t ' (A1) B A o
110 Arrange these poverty alleviation programmes from first to 1ast according
to starting of the programme -
(a) Integrated Rural Development. Programme e
(b) . Antyodaya Programme
~(c) ~ Jawahar Rozgar Yojana -
(d) Indira Awas Yojana - - : S
_ Select the correct answer by using the codes g1ven below P
(1) (a), ®), () and (d) @ ®), (), (d) and (a)
() (1), (@), (c) and (d) - @ (), (c), (a) and:(d) o
| ﬁnﬁﬁaﬂwwﬁzﬁqﬁqﬁ%m%mﬁsﬂ%méﬁ%ﬁw
ZaRed HTY
@) e T R BEwa
(b) vl HEHH
(c) TEEY AN e
(d) 3w EmE g
T RT W wE @ suEm mﬁ ¥ el S g
(1) (@, &), 7@ @ "), (© @ F (@
G O @ @@ - @ ), (@, (@7 )
07_Dj | 33 ~ [Contd...

(3) 1800 and 3000 calories
(4) 3000 and 2600 calories

Wmm%wﬁﬁ%@aﬁu&wﬁaaﬂ%%fmm
T 9=l &9 ¥ wmaw faﬁﬁrﬁﬂuﬁrﬁ?uﬁrwﬁaeﬂam%?
(1) 2100 & 2400 Hard

(2) 2400 § 2100 FWr

(3) 1800 T 3000 Fell

. (4) 3000 9 2600 W
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_The main elements of the programme "Bharat Nirman" started for rural

infrastructure development are

(a) Rural housing

(b) Irrigation Potentiality and drmkmg water

(c) Electrification

(d) Rural Roads

Select the correct answer by using the codes given below :

(1) @, ®ad 2 (@, ®) (©) and (d)

(3) (b), (o) and (&) - 4) (a), (¢) and (&)
wﬂwaﬁﬁmwm%ﬁmg&%&nﬁ%“wﬁnﬁ”%
e e €

(@) Tl erETd

(b) T dwe g ﬁtﬁﬁf
(c) Terrditem

@ T T
.-ﬁ%%&ﬁﬁgmmﬂmﬁgqﬂﬁwgﬁﬁ
1 @, d I - (2) (a), ), (c)= (d)

112

SO RORSCN W @930

Which of the following is a correct statement ?

(1) NABARD is  the apex institute provxdmg rural credit in Indla
2)VV Coimmercialobanks’ does! fot ‘provice tutalcredit.

(3) Regional Rural Banks provide credit in urban areas.

(4) The area of operation of co-operative banks is limited "fo cities.

Frafafae & & 9@ g4 9 & 7
(1)Wﬁuﬁwmmaﬂ%aﬁaﬁﬁwm%‘
(2)%%%3@%@@%%

@) o aiw & sl &4 Y e WE B ¥

113

@ a'saﬂ‘&é"cﬁrmao'réa?ﬁ sm‘?r’amé’f@r&[a%_l'

Which of the- foi!owmg is dlrectly not assomated w1th agnculture marketmg 7
(1) Minimum support price :

(2)  Agriculture credit

(3) Forward Trading of agriculture prodr.icts
(4) Grading of agriculture product.

frefafaa & @ &9 -@ vorm =0 @ Hiy Rwom ¥ e gen T ¥ 7
(1) —wm Twde o

@) Pt

4 N s F:; FoigRw

07.D} 34 | [Contd...
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114 Accordmg to LC.A: (International Cooperatlve Alhance) the obllgatory )

principles of cooperation are .
(a) Cash Trading (b) Open. Member-shlp. ;

(¢) Promotion of Education (d) Democratic. Control -~ . ST
Select the correct answer by using the codes given .be_lqw.' :--; SR
(1) (a) and (b) 2) (b) and (&)

(3) (c) and (d) “) (a), (b) and (d) T

AN Tep FH & FPER Fewmn & ofant Rgrw %

() -HE AWR | b) g?rﬁﬂamm B

(c) Rwm & wR. ' @ wemErss fEse

I A W B @ I WY FU § SW gER -

1)y @3 2) ®) 7 ()

3 @3 @ @ @ ®F (d)

115 The Cooperative Planmng Committee has classified cooperatlve farmmg :
into the following : _
(a) Cooperative tenant farming (b) - Cooperative collecnve farmmg =
(c) Cooperative better farming  (d) Cooperative joint farming
Select the. correct answer by using the codes given below : '

(1) (a), (b) and () (2) (b) and (c)

3) ®), (c) and (d) (4) (a), (b), (¢} and (d) o
Hﬂzﬁlﬂﬁtﬂaﬂqﬁﬁr%aﬁr&ﬁﬁﬁmﬁmﬁwﬁﬁm% |
(a)mar&mﬁmgafﬁ b) wEwd wofew st

(c) TWER TF BN (d) “EHERI e Sl

Aok W W F IWM FW@ gL T IW YA

(1) (), b)) 2) ®F(@©

G 1) @3 (d) 4 (), (b) (0) q (d)

i _116  '.Whlch of the followmo techmques are. the part of orgamc farmmg ‘?

' (a) .Crop rotatlon e
. {b) * -Green manure R
(c) Compost and blologlcal pest control ' o
" .- Seleet the correct answer by using the codes given- below
(1) (@) and () . 2 Only (o).
@ @OamdE - @) () ad (@)
-ﬁmf&ﬁwﬁ%ﬁq—%ﬁaﬁmﬁﬁfﬁ@ﬁmm%
(a) HAT-YHU () :
(b) ¥ @&
© e o e T g o—
I A W wE W T e g o s ghe o

1) @ b () ® ()
@ @ b (@ @ @ E o
Cop : 35 . [Comtdii
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117 The main cause of unemploymen; .in the developed countries is :
(1) Lack of effective demand
(2) Increase in population |
(3) Lack of technical knowhow
(4) Increase in labour powef
Ref 29% % T @ wgE wwor &
(1) W @
@ sEen ghe
() aBlar @ @ e
@) s« afm ¥ yfg
118 Which of the following statement is wrong ? :
(1) Disguised unemployment is also 'know_n as under une;mﬁ'loyment.
2) .Cyclical unemployment is due to changei :n weather g)ile -
- (3) _Open unemploymént is'due to. increase in labour force buttnot increase
' - in other. factors of productlon L
- (4) - Generally fnctlonal unemployment is pres;_r; in develol-alzchl coﬁntry -
feefes & @ aﬁffum';ﬁ'aﬂ T % -
(1) msuﬁmﬁﬁ-ﬁ%ﬂﬁmﬁmﬁﬁl
(2)aaﬁaéﬂwnﬁ%qwﬁwaswm%
(3)@ﬁrﬁﬂwnﬁmamﬁqﬁg%mamwmwf{qﬁ§
TR F BRY s o % |
() e A w9 a3
07_D] 36 [Contd...
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119 Match List-I with List-IT by _uSing following codes and select correct
answer :

In India in the year 2004-05 the share of various sectors of the economy

~ in employment (on the basis of current Daily Status) was :

List-I List-IX
(A Agriculture (i) 924%
(B) Manufacturing () 12.62%
(C) Trade (iii) - 52.06%
(D) Social and Private Services " (iv) 12.90%
Code : ) o ‘

@ ® © O
1) Gi) (@v) (ii) 4y
2 @) @) G (iv)

Gy (i) () () ®
@ G @) ) (@v)

-1 &) A 3 A me Tl A ':?f"ﬂ—
Stk g
WG g 2004-05 ¥ srferren & Rifrer & &1 AR N R (aean

S Refk) & o o
@
©
)Y

- @

wE

Y
@
3)
@

W/
- b

s oo el Fany (v 1290%

(A)

~ (ii1)

(i)
(iif)
0.

07.D]

- ®

(iv)
(iii)
(if)

(i)

RPefor

e

©
(i)
)
(iv)

(i) -

D) 9.24%

S 1262%.

TR () B W

(i) 52.06%

. (D)
@
(iv)
(iv).

37
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Match LlSt I with List-IT and select the correct answer using the codé given

- -below :
List-1 S List-1I
| (A) inquiry tra_ini_hg model (i) D. Ausubel
| '.('B) ~ Development ‘model | (i) John DV.
(C) . Advance 6rgénizer model (iii) Richard Suchman

- (D) Sbc_ial_ interaction source model (iv) Jean Piaget's

| Code :

L e ©o O

(n a@y @ O ()

2) -.__(iii) @) ® @

e om0 @ W
L@ @ @ 0

_(4) MO RNCY 0

121

""3";-_.ﬁq&1f@a@m@—uaa@rmﬁmmaﬁmwa.

S R (R whew) W0 ()
Ay o e SR @ & o
(B fuanaree - figor YREMA Gy ot FaEn
©) oM weH whREAH Gii) feas walm
() wmiE o feur sk (v) S Ew -
e ® .0 o
SRS € B 1V R C) B (iv) P B
@ @ w0 @ S
@ @ @ 0 @) o ) SRR

In which Age period the maximum mental development is achieved ? |

(1) 10-15 yrs. (2) 15-20 yrs.
- (3) 20-25 yrs. (4) 5-10 yrs.
g ogEw ¥ ARG R ool S S WX 9ge Wi ¥ 7
(1) 10-15 EL (2)‘ 15-20 4
() 20-25 9 @) 51098 |
07_D} | 38 [Contd:..
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122 Which of the following teaching strategies are not related with democratic
teaching strategies ?
(1) Group discussion strategy - (2) Brain storming strategy
(3) Problem solving strategy (4) Role playing stratégy _
frr % ¥ fow R s @ Wy vl ofgeael ¥ T ¥ 7
(1) wrffew afat e @ T sgEe E{Eﬁm
@) W SpEre ) e
123 Which of the following strategy is used for communication strategies for
complex rules and procedures of instruction’s ? :
(1) Continuous prose communication
(2) Multimedia communication
(3) Audio visual communication
(4) Multi sensory communication
m@%mwaﬁaﬁamaﬁamgﬁwfrﬁmﬁ%aﬁﬂﬁw
& wE fm s § 7
(1) oTien T gRE
(2) wEATEN TR
() T TG
(4) g 3T ARy
124 Which of the following are the three basic element of cybernetics ?
(1) Input, Closed loop, Output |
- (2) . Open loop, Closed loop,. Input
(3) Input, Output, Processor ' -
~(4) " Processor, Output, ‘Open loop '
'me%%wwwﬁﬁﬁ% 7
() v, omga ok s |
@) T T, wg tnszr IR
() wrm, W LESIOC
(4) UG, W&, GW S B
125 Who is the propounder of Insight themy ?
(1) Thorndike ' (2)  Skinner
(3) Paviov - {4) Kohler
I T Rrar & wiowem @ & 7
(1) arfems @) Re e
-~ (3) vigwia | C(4)  wrEEy
07_D] | 39 | [Contd...
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126 "Two children have no common abilities” which psychologist said this
~ statement 7 - '
(1) Hurlock @ Sorensun
(3) Crow and Crow (4) Jean Piaget
“a‘rwfiwmﬁaaﬁvmﬂﬁ@?ﬁ%”wzﬁmﬁmﬁﬁaﬁﬁ
wE 7 o o
(1) T o @ W@
(@) Wl s = @ S\ @
129 Which of the following technology is not used in computer assisted
instruction 7 S S
(1) Hardware technology (2) Software technology
. . . (3). Courseware technology . (4) - Creative technology.
- Pt § 9, memﬁswﬁuwiﬁmﬁﬂa% ?
(1) e e @) WREER T
() R T @ fegfem TEEs
128 .Which of the following assumption / assumptions are underlying computer
sssisted jinstiuction | 7
(A) Instructions for a number of learners at a time ‘
(B)' Variety in the use of methods and techniques 3
(C) Automatic recording of the learners performance ;’F
Choqs¢ the ﬁght_code : o
(1) (A), B) and © - o
2 (A and (C) . A
@ ®ad(© o
(4) Only (C) - L
Prafifes ¥ & B, Wamaﬁsmﬁﬁ%ﬁwwm
CAad €7 - :
(A) a@@rﬁmﬁqﬁﬁwﬁwﬁaﬁmwm |
@) Rt @ qeier & wEe e
(C) Prendf & seewa o offemfen R
frr § 9 @& & & g Y
() (A, B) @ (C)
@ @G WO
(3) ®) =@ O
4y == (C)
07_D] | 40 [Contd...
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Which of the- followmg is not a computer language 7 )
(1) LOGO
(2) COBOL

- (3) JAVA

130

@ COSMO
ﬁmﬁf@aﬁ%ﬁﬂ*@rwwﬁﬂﬁ% ?
(1) wmw (LOGO)

(2) W (COBOL)

() W (JAVA)

(@) ﬁwﬁ (COSMO)

“When we are- worlung on computer then the computer uses memory to
collect programmes and. mformanon 's' -this - memory from the follomng' e
is known as 7 : : -
¢} ROM”
(2) RAM

' (3) WAN

aawnqgwwmﬁmi%@%%aawﬁmﬁ@@mﬁaﬁwﬁ?
aﬂ%%ﬁwmﬁrwmm% mq%ﬁﬁmﬁiﬁgaﬁ%w
e ¥

(1) M| ROM)
@ ™ ®AM) o
S @ weRy o
Whlle llsn}g mternet we wnte "WWW"Aletters WhICh meaﬁs . ? _-' o

RSt

(I) “World Wide Wrestlmg

e - World Wide-Workmg e
-~ (3) World Wide Web- :

(@)  World Wide. Wild .

-'Rﬁzﬁmmwﬂwaﬂﬁw“sﬂsﬂw” am‘&mw’mm

el & feer e ¥ ?

(1) o= 9§s Wit (World Wide Wrestling)
() u= aiE T (World Wide Working)
(3) T 9ES ¥ (World Wide Web)

@) w© IS TEE (World Wide Wild)

.+ 07D ' a1 - [Cénitci.’.._
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Under Arti_cle.'27'5 of the Indian Constitution which of the following have |

132
a right to recommend grants-in-aid to the states ?
(1) . Planning Commission (2) Finance Commission
3) '_Ministry of Finance (4) Government of India
sl SRR @ e 275 % ova toa ¥ & few @ oo @ g
W& gerdl (grants-in-aid) & WO s@sEr &G @ Sl ¥
(1) AT @ @ fr emm
(3) T HEwE ©(4) WRd TR
133 Which Psychologist came up with following definition ?""Fi.fst psychology
lost its soul, then it lost its ~mind, then it lost its consciousness, its still
has behaviour of sort". '
(1) James Williams (2) Crow and Crow
(3) Woodworth ‘R.S. (4) Skinner B. F.
T o e afw R TG B T Y 7 ae e i
¥ ol e & AR fear | Y SR o w W wRasw @1 @t fean
R e wnl Rear | Tldle st @ fafy =t wex
'_ﬂi_{'ﬂT t In . .
(1) F w0 @ WmwEH
() gead R, UE. @ few il
134 Who stated the above -s.tate_m'ént-'? "A nation, 'schobi are orgaﬁ of its'..
| life- whose . special function is to consolidate, its strength, to maintain
its historic continuity, to secure its post achievement, guarantee its future".
() T P Nun -~ (2) John Dave :7:
(3) G L. Anderson - ~ (4) Crone Back :
vug g ¥ Rreawm wwE oa & oo ¥, Reme gy o ¥, e
smeafe i g% e | sEa YRetie Feran &t s e, sawl
T B ghAael H gUEe @ R sue wire @ TRed w1
So @ae fewa g R o ¥ |
a & oW 2) W
@) o W o | @ W d%
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135 Wlnch of the followmg factor does not affect Jearning ?
(1) Leamer
"(2) Learning Experience _
.(3) Humarn and matei'ialistlc resources
L _-'__'_:(4) Almlessness
'-"--_ﬁqeﬁgaﬁaeq-mmmmﬁmmamwae% ?
M aftrry et
@ ofreroegwa
) e e w
| (4) e%m ’éﬁm
o 136 __'Whlch popular book was written by Watson and pubhshed m 19’75 ?
_:(1) _Animal Psychology . :
e '(2) Psychology from' the standpomt of a behawounst
L (3) Behavnourlsm '
@ Child” Psychology _ P
o aweed BR fufew @ ad 1925 ¥ u'cmf?na a’mﬁm T 3
L g oWk
@ tqa'srwa & ef%z 3 nﬂlﬁmﬁ BT
@), mm n‘—ﬁ’rb?nw o
137 "Learning is acquisition habits, knowledge and iftitudes "Who defined
this learning ? _,: e
(1) Skinner (2) Crow and Crow
_ (3) Guthrle _ . G R Murphy L
- (1) ﬁwr{ '- _' @) ﬁ W B/
e ﬂeﬁ. e (@ A
138 Whlch stage from the followmg is the concept of complete development-:
stage accordmg to Piaget's ?
(1) Formal operational stage - = (2) Coficrete operatlonal stage
(3) Sensory motor stage . (4) Pre-operational stage
_ﬁ%ﬁ%ﬁ—ﬁmwﬁ#@ﬁmﬁm%?
(1) orgd dfpare eren (2) T ?r R arereen
3) gﬁuaﬁwwmaw 4) qd dfeaem SEen

. e :__ Fiaman .
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'W}.ﬁch of the'fbllo'win'g factor's does not affect the social development of

Adolescence 7 : :

(1) Interest (2) Needs

[€)) Insecunty (4) Attitude
%&hmﬁmmwﬁaﬁuwﬁm CrAC L I
- 7 '

1) efwi | (2) SmEFAmAd

(3) STGRET | @ Hﬁqﬁifﬁ

Whlch of the follomng is the best way to control the emotlons in
Adolescence ?

(1) Rationalization . @) Projection "

(3) * Sublimation (4) Suppression
ﬁﬁ?ﬂ'ﬁﬁﬂﬁﬂ%ﬁﬂﬂﬁﬂﬁﬁwmﬁﬂﬁﬂﬁﬁﬁﬁﬁ?—m%?
) gf%ﬁw - 2) wdger

@3) 9= | @) T

<

Which'\of  the Meliotony: | stapel is Selated &o ‘harac*cr deveIOpment in
Adolescence ?

(1) Conforming conscientious stage S

(2) Irrational conscienticus stage
(3) Rational conscienticus stage
(4) Self-cent red stage . T :
ﬁﬁ&ﬁ?@ﬂwﬁmaﬁﬁwuﬁm@ra’rmm% ®

EE) ﬁi""'"‘f ¥ q E3K¢ o

() TR SRR SreRAT |
() oMUTYE o S et

(4 @ Fhaa orgen
142 The main feature of Adolescence is
(1) Self pride : : (2) Creativity
(3) Social attitude (4) Self consciousness
- fsit o & gey fadwan P H A %
(1) o™ TiRg | (2) ECRIT G
() wmise wgta @) e T
07. D] 44 [Contd...
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143 Wlﬁ'ch_.of the following is the main .factor in operant conditioning theory?
| (1) Shapiﬁg .(2) Reinflo.rce'ment o |
(3) Extinction TR (4) Spontaneous recovery
._Wuﬁam%@ﬁuﬁﬁmﬁg@wﬁwﬁ%ﬁq—m% ?
(1) smpfreT @ g |
@) e F (@) @ emgRt
'144. "Learning is the modification of behawour Ihrough expenences and
© training" stated by which psychologist 7 g
(1) Wood worth R.S. _ (2) Skinner
(3) Gates and. ché;s ) Thomdlkél
| suf o e % @ wE ¥ 9 @ et @ dEm @
ol @ ¥ 7 oow waa few et & g Rew o ¥ 2
(1) gsad am. ua 2 fax
B OB
145 Which of the following is the ‘principle characterlstic of: good learner ?
(1) Willpower (2) Alttention -
(3} Academic ability _ 4) Maturlty o 5
e a&mﬁiﬁmﬁamﬁwﬁ%ﬁa—ﬁ% ?__.T_.;- .
() s afR @ sEmw
Gy s‘rféﬁs thm?n Ce (4) | q&qaam
146 "A mmd that found 1tself" book was written by S
- (1) Head field o (2 Cw Bears B
(3) Shaffer | (4)  Skinner o
"A mind that fourid-itself" (”Q 5= 92 Wes 32'9?35 ) HE gEIw Tepaes
B Tt el & 2
) ¥ @ - ) Y=g <gd
07.D] . 45 . [Contd...
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147 Which of the following is the method of Indirect methods of tension
reduction ? | :
(1) Identification (2) Substitution of other goals

(3) Removing the barrier (4) Decision
mﬁwmﬁﬁmﬂﬁ?ﬂﬁwﬁwﬁﬁaﬁﬁﬁ_m% ?
(1) I (2) W B Wi
(3) =iem @ P @ fFr
148 Which of the following is not a cause of frustration ?
(1) Opposite goals (2) Opposite desires
(3) Moral ideals (4) Success
frefRag § ¥ WEW H HE-W BRI ' P ,
(1) fd wRem (2) Trdd geod - |

@) e ot (4) T

149 Which of the following is a contribution of a teacher in process of
adjustment in Adolescence ?

(1) Not making aware of weakness

(2) Not working towards the basic needs

B3y \/\Setiihg“al hrooki (level jof-aspirition

(4) Not solving the problems

R ¥ oamem @ whear ¥ Rew @ drem Prefdes §
B ¥ 7

(1) AT & FH T &

(@) TEE smEEEaE B i T e

(3) oTeiEn. 1 SR WX T HIW

(4) AR H GWUR T G

150 Which guiding principle from the following is not directives in selection
of teaching aids ? - '
(1) The principle of re'alization of objectives
(2) The principle of learner centeredness
(3) The principle of physical control
. (4 The principle of availability
P ¥ F-w e Ree el & 9oe o unkese @ w7
(1) oot &t gff @1 faara
(2) Foenedt S w1 e
() dfve Fem @ Rem
(4 dEur & Wi BN w R
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ANSWER KEY OF SCHOOL LECTURER (commerce) EXAM 2011
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